Geometry PreAP Worksheet Rev 2014

Mathematician:

6-6B: Quadrilateral Proofs Date: Period:
Fill in the blanks with these proofs.
1) Given: GHUJ is a rhombus
Prove: /1= /3
T
Statements Reasons

1. GHIJ is a rhombus. 1. Given

2. a. 2. rhomb. -

3. GH| JI 3. 7 — opp. sides ||

4. /1= /12 4. b.

5.¢ 5. rthomb. — each diag. bisects opp. &

6./1=/,3 6. d.

2) MNORP is an isosceles trapezoid.
Prove: MO = NP

P

Statements

Reasons

1) MNOP is an isosceles trapezoid.

2)

Definition of Isosceles Trapezoid

3) ZMPO = /NOP

4) Reflexive Property
5) AMPO = ANOP
6) MO = NP
3)
Complete the two-column proof of Theorem 6-4-2 by filling in the blanks.
Given: EFGH is a rectangle. F G
Prove: FH = GE
Proof: E H
Statements Reasons
1. EFGH is a rectangle. 1. Given
2. EFGH is a parallelogram. 2. a. ?
3. EF=b. ? 3. O — opp. sides =
4. EH=EH 4. c  ?
5. ZFEH and ZGHE are right angles. 5. d. ?
6. /FEH = a. ? 6. Rt. £ = Thm.
7. HNFEH = AGHE 7. f. ?
8. FH= GE 8. g. ?




4)

Complete the two-column proof of Theorem 6-5-2 by filling in the blanks.

Given: EFGH is a parallelogram. E 5 G
EG = HF ><
Prove: EFGH is a rectangle. £ 5 T
Proof:
Statements Reasons
1. EFGH is a parallelogram. EG = HF 1. Given
2. EF= HG 2.a. 17
3.b. 7 3. Reflex. Prop. of =
4. AEFH = AHGE 4. c 7
5. £ZFEH = d. 7 5. e. ?
6. ZFEH and ZGHE are supplementary. 6. f. ?
7. 9. ? 7. = A supp. —rt. &
8. EFGH is a rectangle. 8. h. ?

5) Write a two column proof.

Given: ABCD is a parallelogram.
Prove: AAEB = ACED




